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SA: DED
M HHPAZH(FIHELSIH)
S EISTEEIES (E = ESIE S V=) (cre): xg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
B (RE)FIHE 2Ael AL LIXIA
2,000,000 *23] 4,000
AE(NER, S5 ST
2,900,000 *2CH 5,800
RER=S 1,500,000& «12& 18,000
Stie=s 2,500,000& ~12& 30,000
es 1,000,000& * 12& 12,000
202 04dl 9,600 9,600
01 2L AL 9,600 9,600
ERE ALEA
10,0002 x4 *202 122 9,600
A2 (FUHESE) (FHEEXIALY) 53,110 44,710 8,400
elIg =3l 53,110 44,710 8,400
101 @124H| 48,910 44,710 4,200
03 SR (RINHA) 222+ 48,910 44,710 4,200
A= PNE= = gacl 23 48,910
-Jl=s 2,500,000 «1H*12& 30,000
S2=g 2,500, 0002 x50%* 1 *23] 2,500
“2sgonts 50,0002 x1& 122 600
Y B EH| 2,500, 0002 560%+1 225 3,000
NE LR
20,0003+ 1 *20Al 2+ 123 4,800
-E3044| 10,0003 * 1 »22& 12 2,640
-S¢NE=+Y 310,0003x 1122 3,720
-HAOH2 4| 10,0003 x 12 =15 1,650
04 HSRESS 4,200 4,200
M SRHE(RIHA) 22N EEERES S 4,200 4,200
-“AHEE= 350,000 «1H*12& 4,200
(Gla1ha] 1,462 2,000 A538
OlEIEI(F=XHE) (FRIE LRI ALY) 1,462 2,000 Ab38
oligil 1,462 2,000 Ab38
801 GdiHI8l 1,462 2,000 Ab538
01 Zetolblbl 1,462 2,000 A538
oligigl 1,462,000& 1,462
NZERE= 10,000 0 10,000
NZRES(FIUHEEINAIY) 10,000 0 10,000
AN2283 10,000 0 10,000
308 AtXIEMSOIE 10,000 0 10,000
07 XA EE2 10,000 0 10,000
WESE = e & WSMD RN &
S 10,000,000 10,000




